EARAZROREIERT — 2 N—XBISY —F 2012518230 (B) 1841 H

P> % C354#4 C35 45%—M% ‘ [xMz] m ‘ (Bl — | & (B) 14000 BBE
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 3| 7= AT T pi 4 éilil_l(l)’A‘EIJ 1:(3_1).1 4-4-3-1 [40.0| — | 1 | 458 ggg_@m
7RI Y w8y B:vO—%>9y R © [Eliiksed
s LA o4 | EERA 1:31.7 7-7-5-4 | 40.4| — 9 464 | BEREE (1)
22| 1 >avANS 6.0 @) Gy | ) 77—z A
ROy IATSTINEL BETTILS =Eictae
. . i 4 | MUK 1:31.9 2-1-1-2 | 41.3| — 6 410 | JIIUBBAE (5£H4)
3|55 T>Fr>ba1— 54.0 A 1/2) -5 | B 71'\*5(;7
:2v—bR—1 B:E>V1-— F5 Rikig
i L= 4 4 | BERHE 1:32.1 1-2-2-3 | 41.4| — 3 450 | SHARX (55H2)
41810 - FZaT 1 54.0 (1 1/2) (-1) |DUEFEE :
R:414429U—"F7 B:I-FLLIILR A AEAS
. N KEFiER :32. —-3-4- . — BEERE (&R
sl7l 7| v>nyarKz 44 &5 (12312/26) 3-3-4-5 | 41.5 2 (4E4) %K%Pﬁ(
L:viNnNyBgLHTr BRIFRVIUR AR
— . - T 3| — WERHEA. (S54)
6189 T5y g 4 4 Xsﬁ) 1(312)8 5-5-7-6 | 41.3 7 (4_4; i A
R:F4N=—hbY— B:FTUE—b HR EX
- P, . g6 _ BEEA ($4)
|y | v a7 w4 | ghm Gy | eeee 8| - | 4 | e |EREE (on
LTIy a%Y—F Bivv/LE— it mE
. R SERTE A .30, —0-0—t . — *“EEE (1)
N - BER2EEE 4 En Ry | TS M | e
RIAYCTLRMY BIALLYLYL REKS
. t 4 | BlBFIH 1:33.6 6-6-6-7 | 42.1| — 8 421 | BAREE (1)
9 4 7*/7]'}/ 54.0 3) (-2) E(H'() 7/—;\#5‘95‘/
R:Ty7oBXT74 99748 B:LAY—T12F AW S
wol7ls| ¥rx7 -7z 9 ;E‘flsIEE 1:(351).3 10-10-10-10{ 41.3 | — | 10 | 490 %\f‘fgﬂ (342)
L:4<EI/OR B:T54 hRF— (-2) ARG
® 1—F—@EBIERL
1T=7r= 10,5,7,3,9,4,2,1,6,8
2a=5"= 5,10,7,3,9,4,2,1,6,8
Ja=5= 5,10,3,7,2,4,9,1,6,8
40—F— 3,5,10,2,7,9,4,6,1,8
[ /N
B 3 210H % & 2-3 2,440MH 3EE 2-3-5 15,490
B B 3 1004 e B 3-2 3,410 EH 525 93,900
2 720M B & 2-3 5,400
5 20/ | B & 3-2 5,210

ABICOVWTRDTEEERROODE. TR LIV,



